



A note on p -adic q - ζ -functions II



Andrzej Dąbrowski

Institute of Mathematics, University of Szczecin, ul. Wielkopolska 15, 70-451 Szczecin, Poland

ARTICLE INFO

Article history:

Received 1 June 2012
 Available online 22 October 2013
 Submitted by B.C. Berndt

Keywords:

p -adic q - ζ -function
 q -Bernoulli numbers
 Lubin–Tate formal group
 Hypergeometric series

ABSTRACT

We show that p -adic q - ζ -function constructed by Koblitz [7] (see also Dąbrowski [4]) can be obtained as Γ -transform of some p -adic measure coming from Lubin–Tate formal group.
 © 2013 Elsevier Inc. All rights reserved.

1. Introduction

Let p be odd rational prime. Let $\Theta_p : \mathbb{Z}_p \rightarrow \mathbb{Z}_p$ be the function defined by $\Theta_p(x) := \lim_{n \rightarrow \infty} x^{p^n}$ (p -adic limit). It is well known (Kubota–Leopoldt) that the function

$$L_p : k \mapsto \frac{1}{k} \lim_{r \rightarrow \infty} \frac{1}{p^r} \sum_{n=1}^{p^r} \left(\frac{n}{\Theta_p(n)} \right)^k, \quad k = 1, 2, \dots,$$

can be continued to a meromorphic function on \mathbb{Z}_p (the Kubota–Leopoldt p -adic zeta function) so that $L_p(k) = (1 - p^{k-1})\zeta(1 - k)$ for $k \equiv 0 \pmod{p-1}$.

Note that a similar construction can be fulfilled in more general situations, especially for some Dirichlet series of type $\sum_n f'(n)f(n)^{-s}$, with $f(x) \in \overline{\mathbb{Q}}[x]$ (see [2]).

It is well known (due essentially to Iwasawa) that the Kubota–Leopoldt p -adic zeta function can be constructed as Γ -transform of some p -adic measure coming from Lubin–Tate formal group.

In order to explain many well-known p -adic interpolation functions in a unified manner, Shiratani and Imada [10] introduced the numbers $B_n(F, h)$ by

$$\frac{Xh'(e_F(X))}{\lambda'(e_F(X))h(e_F(X))} = \sum_{n=0}^{\infty} \frac{B_n(F, h)}{n!} X^n,$$

and constructed a p -adic interpolating function $\zeta_p(s, F, h)$. Here $F(X, Y) \in \mathbb{Z}_p[[X, Y]]$ is any Lubin–Tate formal group, and $\lambda_F(X)$ and $e_F(X)$ denote the logarithmic series and the exponential series of $F(X, Y)$ with $\lambda'_F(0) = e'_F(0) = 1$. Also, $h(X) \in \mathcal{O}((X))^\times$ denotes any meromorphic series with coefficients in the ring of integers of \mathbb{C}_p , with some unit as the leading term. In the special case of the formal multiplicative group $F(X, Y) = (X + 1)(Y + 1) - 1$, and if $h(X) = X$, we obtain $B_n(F, h) = B_n$ and the p -adic interpolating function coincides with the Kubota–Leopoldt p -adic zeta function. By choosing

E-mail address: dabrowski@wmf.univ.szczecin.pl.

$F(X, Y)$ and $h(X)$ suitably, we can obtain the p -adic zeta function associated with elliptic curve with complex multiplication with good ordinary reduction at p .

In this note we show that p -adic q - ζ -function constructed by Koblitz [7] and Dąbrowski [4] can be obtained from [10, Theorem 9] by taking $F(X, Y) = (X + 1)(Y + 1) - 1$ and choosing $h(X)$ suitably.

2. Results

Fix $q \in \mathbb{R}, 0 < q < 1$. Let $f_q(x) = (q^{-x} - 1)/(1 - q)$ and define, for $\text{Re}(s) > 1$ the q - ζ function $\zeta_q(s) = \sum_{n=1}^{\infty} q^{-n} f_q(n)^{-s}$.

Proposition 1. (See [11].) *The function $\zeta_q(s)$ can be analytically continued to the whole complex plane, except for a simple pole at $s = 1$.*

Consider the q -Bernoulli numbers $B_k(q)$ defined by

$$B_0(q) = \frac{q - 1}{\log q}, \quad \text{and} \quad (qB(q) + 1)^k - B_k(q) = \begin{cases} 1 & \text{if } k = 1, \\ 0 & \text{if } k > 1. \end{cases}$$

Note that $\lim_{q \rightarrow 1} B_k(q) = B_k$, the usual k th Bernoulli number.

Proposition 2. (See [11].) *If $k \geq 1$, then $\zeta_q(1 - k) = \frac{(-1)^{k-1}}{k} B_k(q)$.*

Now fix an odd prime number p and assume, for simplicity, that $q \in \mathbb{Q}, 0 < q < 1, |1 - q|_p < 1$. We will show that there exists continuous p -adic \mathbb{C}_p -valued function on \mathbb{Z}_p which interpolates the values $\zeta_q(1 - k), k = 1, 2, \dots$. More precisely, we prove the following result.

Theorem 1. *There exists a locally analytic function $\zeta_{p,q}(s)$ on \mathbb{Z}_p such that for any positive integer $m \equiv 0 \pmod{p - 1}$ we have $\zeta_{p,q}(1 - m) = (1 - p^{m-1}) \frac{B_m(q)}{m}$.*

Proof. We have to determine a meromorphic series $h \in \mathcal{O}((X))^\times$ satisfying $B_k(F, h) = B_k(q)$ (for all $k \geq 1$) and $N_F h = h$, where N_F denotes the Coleman norm operator.

The generating function for the numbers $B_k(q)$ is determined as the solution of the q -difference equation $F_q(t) = e^t F_q(qt) - t$. More precisely, we have the following result [11, Lemma 2].

Lemma 1. *We have $F_q(t) = t \sum_{n=0}^{\infty} q^{-n} e^{-f_q(n)t}$.*

Consider the series $G_q(t) := \frac{F_q(t)}{t}$. It is easy to check that $h(u) := e^{\int \frac{G_q(\log(1+u))}{1+u} du}$ satisfies the equation

$$\frac{te^t h'(e^t - 1)}{h(e^t - 1)} = F_q(t),$$

and hence $B_k(F, h) = B_k(q)$ for $F(X, Y) = (X + 1)(Y + 1) - 1$ and all positive integers k . Here we assume that ‘the constant of integration’ is zero.

We have to check that $N_F(h) = h$. By the construction of the operator N_F (see, for instance [3, Section 2.2]) it is enough to check the following identity:

$$\prod_{\zeta \in \mu_p} h(\zeta(1 + T) - 1) = h((1 + T)^p - 1).$$

Let $H(u) := \int \frac{G_q(\log(1+u))}{1+u} du$. It is plain that

$$H(u) = \log(1 + u) + \log_{(q)} \left(1 - \frac{1}{1 + u} \right),$$

where

$$\log_{(q)}(1 - T) := \sum_{n=1}^{\infty} \frac{q - 1}{1 - q^n} T^{\frac{q^{-n}-1}{1-q}}.$$

Here $T^\alpha = \sum_{k=0}^{\infty} \binom{\alpha}{k} (T - 1)^k$. Note that $\lim_{q \rightarrow 1} \log_{(q)}(1 - T) = \log(1 - T)$.

We have the following useful result (equality of formal power series in X and Y):

Lemma 2. We have

$$\log_{(q)}((1 - X)(1 - Y)) = \log_{(q)}(1 - X) + \log_{(q)}(1 - Y).$$

Proof. Denote $a_n = \frac{q^{-n}-1}{1-q}$. We have to check the identity

$$\sum_{k=0}^{\infty} \binom{a_n}{k} \sum_{k_1+\dots+k_4=k} \binom{k}{k_1, k_2, k_3, k_4} X^{k_1} Y^{k_2} (-XY)^{k_3} (-1)^{k_4} = X^{a_n} + Y^{a_n},$$

where the inner sum is over all integers $k_i \geq 0$ satisfying $k_1 + \dots + k_4 = k$. The LHS is, of course, of the shape $\sum_{\alpha, \beta} a_{\alpha\beta} X^\alpha Y^\beta$, where α, β run over all non-negative integers. Taking $k_2 = k_3 = 0$, we obtain

$$\sum_{k=0}^{\infty} \binom{a_n}{k} \sum_{k_1, k_4} \binom{k}{k_1, k_4} X^{k_1} (-1)^{k_4} = \sum_{k=0}^{\infty} \binom{a_n}{k} (X - 1)^k = X^{a_n}.$$

Taking $k_1 = k_3 = 0$, we obtain

$$\sum_{k=0}^{\infty} \binom{a_n}{k} \sum_{k_2, k_4} \binom{k}{k_2, k_4} Y^{k_2} (-1)^{k_4} = \sum_{k=0}^{\infty} \binom{a_n}{k} (Y - 1)^k = Y^{a_n}.$$

In the remaining cases, the LHS gives no contribution (i.e. $a_{\alpha\beta} = 0$ if $\alpha\beta > 0$). To see this one can rewrite the LHS as a linear combination of special hypergeometric series and use their properties. Let us check that $a_{11} = 0$. In this case

$$\sum_{k=0}^{\infty} (-1)^k \binom{k}{0, 0, 1, k-1} \binom{a_n}{k} = F(-a_n, 2) - F(-a_n, 1)$$

and

$$\sum_{k=0}^{\infty} (-1)^k \binom{k}{1, 1, 0, k-2} \binom{a_n}{k} = F(-a_n, 3) - 4F(-a_n, 2) - 6F(-a_n, 1),$$

where we abbreviate $F(-a_n, m) := F(-a_n, m, 1, 1)$. Using [1, Section 2.8, formula (2.9)], we easily obtain $F(-a_n, m, 1, 1) = 0$ for $m = 1, 2, 3$. The general case is proved under the same lines. We omit the details. \square

From Lemma 2 we easily deduce the identity

$$\sum_{\zeta \in \mu_p} H(\zeta(1 + T) - 1) = H((1 + T)^p - 1),$$

which implies $N_F(h) = h$. Applying Theorem 9 from [10], we are done. \square

Remarks. (i) It would be interesting to use [10, Theorem 9] to prove variants of Theorem 1 for poly-Bernoulli numbers (and q -variants). The same for the numbers $C_r(i)$ defined in [5]. (ii) It would be interesting to interpret in this way other types of q - ζ functions (see, for instance, [6] or [8] and references therein). (iii) In [9], the author views the q -Bernoulli numbers in terms of the group which addition of X and Y is given by $X + Y + (q - 1)XY$.

References

[1] H. Bateman, A. Erdélyi, Higher Transcendental Functions, vol. 1: The Hypergeometric Function. Legendre Functions, Nauka, Moscow, 1973, translated from English.
 [2] P. Cassou-Nogues, Analogues p -adiques de certaines fonctions arithmétiques, Sem. Théor. Nombres Bordeaux 4 (1974–1975), exposé No. 24.
 [3] J. Coates, R. Sujatha, Cyclotomic Fields and Zeta Values, Springer-Verlag, 2006.
 [4] A. Dąbrowski, A note on p -adic q - ζ -functions, J. Number Theory 64 (1997) 100–103.
 [5] A. Dąbrowski, On zeta functions associated with polynomials, Bull. Aust. Math. Soc. 61 (2000) 455–458.
 [6] M. Kaneko, N. Kurokawa, M. Wakayama, A variation of Euler’s approach to values of the Riemann zeta function, Kyushu J. Math. 57 (2003) 175–192.
 [7] N. Koblitz, On Carlitz’s q -Bernoulli numbers, J. Number Theory 14 (1982) 332–339.
 [8] H. Ozden, I.N. Cangul, Y. Simsek, On the behavior of two variable twisted p -adic Euler q - l -functions, Nonlinear Anal. 71 (12) (2009) e942–e951.
 [9] J. Satoh, Another look at the q -analogue from the viewpoint of formal groups, in: Proceedings of the Jangjeon Mathematical Society, in: Proc. Jangjeon Math. Soc., vol. 1, Jangjeon Math. Soc., Hapcheon, 2000, pp. 145–159.
 [10] K. Shiratani, T. Imada, The exponential series of the Lubin–Tate groups and p -adic interpolation, Mem. Fac. Sci., Kyushu Univ. 46 (1992) 351–365.
 [11] H. Tsumura, A note on q -analogues of the Dirichlet series and q -Bernoulli numbers, J. Number Theory 39 (1991) 251–256.